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Question 1- A group awarded 116 medals for hockey, 40 for running, 50 for 

swimming. If these medals were bagged by a total 156 students and only 10 

person got medals for all the three values. Find the number of person who gets the 

medals for exactly two of three values.

प्रश्न 1- एक समहू ने हॉकी के लिए 116 पदक, दौड़ के लिए 40, तैराकी के लिए 50 पदक प्रदान लकए। 

यलद ये पदक कुि 156 छात्रों द्वारा प्राप्त लकए गए थे और केवि 10 व्यलियों को तीनों मलू्यों के लिए 

पदक लमिे थे। तीन में से ठीक दो मलू्यों के लिए पदक प्राप्त करने वािे व्यलियों की संख्या ज्ञात 

कीलिए। A. 60

B. 80

C. 40

D. 50

E. None  of these
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Question 2- Mixture P and Q contains milk and water. The ratio of quantity of 

mixture A to B is 5:4. Mixture P contains 60% milk and mixture Q contains 

70% milk and the difference between the quantity of milk is 6 liter. Find 

quantity of water in P.

प्रश्न 2- लमश्रण P और Q में दधू और पानी ह।ै लमश्रण A और B की मात्रा का अनपुात 5: 4 ह।ै 

लमश्रण P में 60% दधू ह ैऔर लमश्रण Q में 70% दधू ह ैऔर दधू की मात्रा के बीच का अंतर 6 

िीटर ह।ै P में पानी की मात्रा ज्ञात कीलिये। A. 60 L

B. 40 L

C. 30 L

D. 25 L

E. None of these
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Question 3- P, Q and R started a business by investing Rs 36,000 , Rs y and Rs 

18,000 respectively. P withdraws his money after 1 year while Q invested 6 months 

less than R. At the end of 2 years the profit share of P and Q are same then find 60% 

of y.

प्रश्न 3- P, Q और R ने क्रमशः 36,000 रुपये, y और 18,000 रुपये का लनवेश करके एक व्यवसाय शरुू 

लकया। P 1 वर्ष के बाद अपना पैसा लनकाि िेता ह ैिबलक Q ने R से 6 महीने कम लनवेश लकया ह।ै 2 

वर्ों के अंत में P और Q का िाभ लहस्सा समान ह,ै तो y का 60% ज्ञात कीलिये।

A. Rs 12400

B. Rs 13400

C. Rs 14400

D. Rs 12140

E. None of these
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Question 4- A person invested total Rs 90,000 in two schemes which offers 12% 

simple interest for 3 years and 20% per annum compound interest for 2 years such 

that interest on both part is equal. Find the sum invested at compound interest.

एक व्यलि ने दो योिनाओ ंमें कुि 90,000 रुपये का लनवेश लकया िो 3 वर्ों के लिए 12% साधारण 

ब्याि और 2 वर्ों के लिए 20% प्रलत वर्ष चक्रवलृि ब्याि प्रदान करता ह ैतालक दोनों भागों पर ब्याि

समान हो। चक्रवलृि ब्याि पर लनवेश की गई रालश ज्ञात कीलिये।

A. Rs 40,500

B. Rs 30,500

C. Rs 30,500

D. Rs 30,500

E. None of these
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Question 5- There are 500 students in a group in which 60% are boys and rest are 

girl. If the examination fee of all boys and girls are equal and the average 

examination fee of boys is Rs 120 then find average examination fee paid by girls.

प्रश्न 5- एक समहू में 500 छात्र हैं लिनमें 60% िड़के हैं और बाकी िड़लकयां हैं। यलद सभी िड़कों और

िड़लकयों का परीक्षा शलु्क समान ह ैऔर िड़कों का औसत परीक्षा शलु्क 120 रुपये ह,ै तो िड़लकयों 

द्वारा भगुतान लकया गया औसत परीक्षा शलु्क ज्ञात कीलिये।

A. Rs 140

B. Rs 150

C. Rs 160

D. Rs 180

E. None of these
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Question 6-

(i) p2 - 16p + 48 = 0

(ii) q2 - 28q + 180 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation can’t 
be established,
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Question 7-

(i) p2 - 23p + 120 = 0

(ii) q = 64

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation can’t 
be established,
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Question 8-

(i) p2 - 27p + 92 = 0

(ii) q2 - 33q + 162 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation can’t 
be established,
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Question 9-

(i) p2 - 15p + 56 = 0

(ii) q2 - 17q + 60 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation can’t 
be established,
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Question 10-

(i) p2 - 65p + 1050 = 0

(ii) q2 - 55q + 700 = 0

(i) p > q

(ii) p < q

(iii) p  ≥ q

(iv) p ≤ q 

(v) p = q or relation can’t 
be established,
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Question 11- What will come in place of question mark in the given 

series.

प्रश्न 11- दी गई श्रृंखिा में प्रश्न लचह्न के स्थान पर क्या आएगा?

10, 40, 14, 42, 105, ?

A. 110

B. 210

C. 112

D. 120

E. 220



https://t.me/mathbytarunsirmepl

Question 12- What will come in place of question mark in the given 

series.

प्रश्न 12- दी गई श्रृंखिा में प्रश्न लचह्न के स्थान पर क्या आएगा?

135, 126, 151, 102, 223, ?

A. 54

B. 74

C. 64

D. 66

E. None of these
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Question 13- What will come in place of question mark in the given 

series.

प्रश्न 13- दी गई श्रृंखिा में प्रश्न लचह्न के स्थान पर क्या आएगा?

4, 14, 58, 292, ?

A. 1154

B. 1754

C. 1654

D. 1354

E. None of these
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Question 14- A person sells an article at 10% discount and gain 20%. Find 

the marked is what percent more than the cost price

7- एक व्यलि एक वस्त ुको 10% छूट पर बेचता ह ैऔर 20% का िाभ कमाता ह।ै अंलकत 

मलू्य ज्ञात कीलिये, िो क्रय मलू्य से लकतने प्रलतशत अलधक ह?ै

A. 22.22%

B. 11.11%

C. 33.33%

D. 44.44%

E. None of these
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Question 15- A person sells an article at 15% profit. Find the profit percent 

on selling price.

प्रश्न 15- एक व्यलि एक वस्त ुको 15% िाभ पर बेचता ह।ै लवक्रय मलू्य पर िाभ प्रलतशत ज्ञात 

कीलिये।

A. 11.04%

B. 23.04%

C. 13.04%

D. 33.04%

E. None of these



https://t.me/mathbytarunsirmepl



https://t.me/mathbytarunsirmepl

Question 16- A , B and C can do a work in 22 days, 40 days and 110 days. 

In how much time the whole work will be completed if A is assisted by B 

and C on alternate days.

प्रश्न 16- A, B और C एक कायष को 22 लदन, 40 लदन और 110 लदन में कर सकते हैं। यलद A 

को वैकलल्पक लदनों में B और C द्वारा सहायता प्रदान की िाती ह,ै तो परूा कायष लकतने समय में 

परूा हो िाएगा?
A. 12 days

B. 16 days

C. 20 days

D. 24 days

E. None of these
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Question 17- Vijay has Rs. 8000. He gives this money to Mac on simple 

interest and after 4 years received the double amount. If the interest rate is 

5% less than the previous, in how many years this amount will be doubled? 

प्रश्न 17- लविय के पास 8000 रुपये हैं। वह इस पैसे को मैक को साधारण ब्याि पर दतेा ह ैऔर 

4 साि बाद दोगनुी रालश प्राप्त करता ह।ै यलद ब्याि दर पहिे की तिुना में 5% कम ह,ै तो 

लकतने वर्ों में यह रालश दोगनुी हो िाएगी?
A. 4 years

B. 10 years

C. 5 years

D. 6 years

E. None of these



https://t.me/mathbytarunsirmepl



https://t.me/mathbytarunsirmepl


